
1/10 RC EP RWD DRIFT CAR CHASSIS KIT Made in China

温馨提示
此车架套件的组装者需要具备一定的动手能力，对组装RC产品具备一定的常识。

如您是初次接触，请您在具备以上条件的人员指导下组装。
Tips：

The assembler of this kit needs to have certain hands-on ability and common sense in assembling RC.
If you are in contact for the first time, please assemble under the guidance of personnel with above conditions.



R 部分已组装
PARTIAL ASSEMBLED

L部分已组装
PARTIAL ASSEMBLED

8mm

A BAG A 1
SC-R38
3x8mm    X2

SC-S316
3x16mm    X2

SP-35505
3x5.5x0.5mm    X4

SP-3552
3x5.5x2mm    X4
SP-3553
3x5.5x3mm    X2

PL-08    X2

SC-B488
4.8x8mm    X2

SC-F310
3x10mm    X2

AL-N337C    X2

AL-N381    X2

AL-N376    X1

AL-N377    X1

AL-N409    X1

CF-N144    X1

AL-N351    X1

AL-N350    X1

AL-N380    X2

SC-B488
4.8x8mm

SP-3553
3x5.5x3mm

SP-3552
3x5.5x2mm

SP-35505
3x5.5x0.5mm

SP-35505
3x5.5x0.5mm

SC-R38
3x8mm

AL-N350

AL-N351

AL-N337C

SC-S316
3x16mm

PL-08

SC-F310
3x10mm

AL-N409

AL-N376

AL-N377

AL-N381

AL-N380

CF-N114



A BAG A 2

L

R

L

R x2

AL-N335

AL-01

AL-123
46mm

DPL-31

AL-72
2x9.8mm

x2

SC-F310
3x10mm    X4

AL-N335    X2
AL-01    X2

AL-72
2x9.8mm    X2

AL-123
46mm    X2

DPL-31    X2

SC-B485
4.8x5mm    X2

BR-02
5x10x4mm    X2

BR-03
10x15x4mm    X2

SC-R36
3x6mm    X4

Nts-3mm
M3 Nut    X2

SP-35505
3x5.5x0.5mm    X4

SP-3553
3x5.5x3mm    X4

AL-41 42mm    X2

AL-N381    X2

AL-N375    X2

CF-N122    X2

AL-N346    X2

AL-N375

AL-N381

SP-3553
3x5.5x3mm

SP-35505
3x5.5x0.5mm

SP-35505
3x5.5x0.5mm

SP-3553
3x5.5x3mm

AL-41 42mm

SC-F310
3x10mm

SC-B485
4.8x5mm

SC-R36
3x6mm

Nts-3mm
M3 Nut

BR-02
5x10x4mm

BR-03
10x15x4mmCF-N122

AL-N346



A BAG A 3

L

R

L R

SC-F38
3x8mm    X8

AL-N338    X2

SC-C24
2x4mm    X4

AL-N320    X2

AL-N304    X1

AL-N307    X1

AL-N306    X1

AL-N305    X1

AL-N373    X2

AL-N374    X2

AL-N307

AL-N304

AL-N305

AL-N306

SC-F38
3x8mm

SC-F38
3x8mm

SC-F38
3x8mm

SC-F38
3x8mm

SC-F38
3x8mm

SC-F38
3x8mm

SC-C24
2x4mm

SC-C24
2x4mm

SC-C24
2x4mm

SC-C24
2x4mm

AL-N320

AL-N320

AL-N338

AL-N338

AL-N374

AL-N373

AL-N374

AL-N373



A BAG A 4

R

L

SC-F310
3x10mm    X4

AL-27 45mm    X2

SP-35505
3x5.5x0.5mm    X4

SP-3553
3x5.5x3mm    X4

AL-N381    X4

AL-N378    X2

AL-N379    X2

AL-N406    X1

AL-N408    X1

AL-N380    X4

AL-N408

AL-N378 AL-N379

AL-N381

AL-N380

AL-N406

AL-N378

AL-N379

AL-N381

AL-N381

AL-N380

SC-F310
3x10mm

SC-F310
3x10mm

SP-35505
3x5.5x0.5mm

SP-35505
3x5.5x0.5mm

SP-3553
3x5.5x3mm

AL-27 45mm

AL-N403

Not included, can be purchased separately.
不包括.可另购.

AL-N404

AL-N405

AL-N407



B BAG B 5
10mm

16.9mm

40mm

Please use low height servo for this kit.
仅适用标准短身舵机

Swift adjust the position of servo mount.
可快速调整舵机位置

SC-R36
3x6mm    X4

SP-07
3x7x0.5mm    X4

SC-F310
3x10mm    X4

SC-F36
3x6mm    X1

SC-C28
2x8mm    X1

SC-B485
4.8x5mm    X2

25t

AL-14    X1

23t

AL-13    X1

SC-F316
3x16mm    X2

SC-F26
2x6mm    X3

AL-N310    X1

AL-N359    X1

AL-N344    X1

AL-N343    X1

AL-N361    X1

AL-N360    X1

AL-N362    X2

AL-N363 -1mm    X2

AL-N345    X1

SC-F38
3x8mm    X1

Not included.
Servo不包括

SC-F316
3x16mm

SC-F316
3x16mm

SC-F310
3x10mm

SC-F310
3x10mm

SC-R36
3x6mm

SP-07
3x7x0.5mm

AL-N343AL-N344

AL-N310

AL-N359

AL-N363 -1mm

AL-N363 -1mm

AL-N360

AL-N361

AL-N362

AL-N362

AL-N345

SC-B485
4.8x5mm

SC-B485
4.8x5mm

SC-F26
2x6mm

SC-F26
2x6mm

AL-14 25t/AL-13 23t

SC-F36
3x6mm

SC-F38
3x8mm

SC-C28
2x8mm



SC-R36
3x6mm

AL-N385

AL-N388

PL-N148

CF-N117

SC-R36
3x6mm

AL-N385

AL-N388

PL-N148

CF-N118

SC-R36
3x6mm

SC-F310
3x10mm

SC-F310
3x10mm

SC-F36
3x6mm

SC-F212
2x12mm

SC-F212
2x12mm

AL-N386

AL-N386

AL-N384

AL-N387

AL-N387

AL-N390

CF-N116

B BAG B 6
SC-F212
2x12mm    X4

SC-R36
3x6mm    X4

SC-F36
3x6mm    X2

SC-F310
3x10mm    X2

PL-N148 (black)    X3

AL-N386    X2

AL-N387    X2

AL-N388    X2

AL-N385    X2

AL-N390    X2

AL-N384    X1

CF-N117    X1

CF-N118    X1

CF-N116    X1

93mm
47mm

18.5mm

THIN SHORT BATTERY
短薄电池组

Please use Thin Short Battery for this kit.
仅适用短薄电池组



B BAG B 7

SC-F36
3x6mm

AL-204

F R
Notice the direction.
请注意安装方向

AL-50    X1

AL-42    X2

SC-F36
3x6mm    X9

AL-204    X1

CF-N102    X1

AL-N410    X1

AL-N411    X1

AL-N315    X2

AL-N311    X1

SC-F312
3x12mm    X2

AL-50

AL-42

SC-F36
3x6mm

SC-F36
3x6mm

SC-F36
3x6mm

SC-F36
3x6mm

SC-F312
3x12mm

SC-F312
3x12mm

SC-F36
3x6mm

AL-N311

AL-N315

AL-N315
CF-N102

AL-N410

AL-N411



B BAG B 8
SP-571N
5x7x1mm

SP-382R
3x8x2mm

BR-01
5x8x2.5mm

AL-N372

AL-N367

AL-N366

AL-N365
AL-N371 AL-N364

AL-31917.7mm

AL-319

CF-N121

AL-N368
1mm

BR-01
5x8x2.5mm

SC-R38
3x8mm

SC-R38
3x8mm

SC-R38
3x8mm

SC-F38
3x8mm

SC-F38
3x6mm

SC-R310
3x10mm

Nt-3mm
M3 Nut Titanium Turnbuckle

AL-N369
M3x26mm

SC-R36
3x6mm

SC-F38
3x8mm    X2

SC-F36
3x6mm    X2

SC-R36
3x6mm    X2

SC-R38
3x8mm    X4

SC-R310
3x10mm    X2

Nt-3mm
M3 Nut    X2

SP-571N
5x7x1mm    X2

PL-08    X2

AL-N369
M3x26mm    X2

AL-319    X2

BR-01
5x8x2.5mm    X4

SP-382R
3X8X2mm    X2

AL-N366    X1

AL-N365    X1

AL-N371    X2

AL-N372    X2

AL-N367    X2

CF-N121    X1

AL-N368 1mm X5

AL-N364    X1

PL-08



B BAG B 9

R

L
KPI ANGLE

SC-R36
3x6mm    X4

SC-F36
3x6mm    X2

SC-B485
4.8x5mm    X4

AL-70    X2

BR-04
6x10x3mm    X4

AL-N316    X2

SP-3551
3x5.5x1mm    X2

SC-B505
5x5mm    X2

AL-N348  X1

AL-N347  X1

SC-R36
3x6mm

SC-R36
3x6mm

SC-F36
3x6mm

SC-F36
3x6mm

AL-70

BR-04
6x10x3mm

BR-04
6x10x3mm

SC-B505
5x5mm

SC-B485
4.8x5mm

SC-B485
4.8x5mm

AL-N316

AL-N347

AL-N348

SP-3551
3x5.5x1mm



L

R

x2

AL-58
M3x45mm

PL-N149

PL-08

PL-08    X2

AL-58
M3x45mm    X2

PL-N149    X2

B BAG B 10

30.6mm



B BAG B 11

SC-R36
3x6mm    X10

SC-R38
3x8mm    X4

AL-211
3x6x8mm    X3

CF-N110    X2

CF-N109    X2

SC-F36
3x6mm    X2

CF-N119    X1

AL-N389    X1

CF-N119

CF-N110
CF-N110

AL-N389

AL-211

AL-211

AL-211

CF-N109

SC-R36
3x6mm

SC-R36
3x6mm

SC-R36
3x6mm

SC-R36
3x6mm

SC-F36
3x6mm

SC-R38
3x8mm

SC-R38
3x8mm



C BAG C 12Insert
AL-N353 AL-N354

Insert

SUGGEST TO USE #30000 DIFFERENTIAL OIL
建议使用30000cst差速油

AL-N324    X2

SP-71805
7.1x8x0.5mm    X2

SP-71801
7.1x8x0.1mm    X2

AL-N402
2x11.3mm    X6

PL-51(brown)    
9x1mm Oring    X4

SP-711005
7.1x10x0.5mm    X2

SC-F256
2.5x6mm    X2

SC-F26
2x6mm    X6

AL-N354    X2

AL-N353    X2

AL-N352   X6

PL-N122
48P52T    X1

AL-N392    X2

PL-N145    X2

PL-N146    X2

凸面向外
CONVEXITY UPWARD

凸面向外
CONVEXITY UPWARD

x2

A
B

C

F

E

D

PL-51(brown)    
9x1mm Oring

SP-711005
7.1x10x0.5mm

SP-71805
7.1x8x0.5mm

SP-71801
7.1x8x0.1mm

AL-N324
SC-F256

2.5x6mm

AL-N392

AL-N402
2x11.3mm

AL-N402
2x11.3mm

AL-N352

AL-N352

PL-N122
48P52T

SC-F26
2x6mm

SC-F26
2x6mm

PL-N145

PL-N145

PL-N146

PL-N146



C BAG C 13

BR-02
5x10x4mm    X5

BR-10
5x10x3mm    X1

AL-N412
2x8mm    X1

DAL-04    X2

Nt-3mm
M3 Nut    X1

SP-5705
5x7x0.5mm    X1

SP-5702
5x7x0.2mm    X1

AL-N327   X1

PL-N126    X1

PDSP-48
48P28T    X1

PL-N128
48P30T    X1

PL-N130    X1

AL-N413
48P18T    X1

AL-N414    X1

Insert

Nt-3mm
M3 Nut

PL-N126

PL-N130

AL-N414

SP-5702
5x7x0.2mm

BR-10
5x10x3mm

AL-N412
2x8mm

AL-N327

AL-N413
48P18T

SP-5705
5x7x0.5mm

BR-02
5x10x4mm

BR-02
5x10x4mm

BR-02
5x10x4mm

BR-02
5x10x4mm

BR-02
5x10x4mm

DAL-04

DAL-04

PL-N128
48P30T

PDSP-48
48P28T



C BAG C 14

SC-R320
3x20mm    X1

SC-R325
3x25mm    X1

SC-R312
3x12mm    X4

SC-R38
3x8mm    X3

BR-03
10x15x4mm    X2

AL-N382    X2

AL-N383    X1

PL-N131    X1

BR-03
10x15x4mm

BR-03
10x15x4mm

SC-R312
3x12mm

SC-R312
3x12mm

SC-R325
3x25mm

SC-R320
3x20mm

PL-N131

AL-N382

AL-N383

SC-R38
3x8mm



C BAG C 15

ADJUST THE GEAR CLEARANCE
调整至合适的齿轮间隙

( 52T / 18T ) X ( 96T / 18T ) = 15.4
DIFFERENTIAL

GEAR
差速齿轮 主轴小齿轮 主轴大齿轮 马达齿轮 齿轮比

SPINDLE
GEAR

SUPUR
GEAR

PINION
GEAR

TRANSMISSION
RATIO

Not included.
Suggest to use10.5t brushless motor

不包括

建议使用10.5t无刷有感马达

SC-R38
3x8mm    X2

SC-R310
3x10mm    X3

SC-S34
3x4mm    X1

AL-72
2x9.8mm    X1

SC-R36
3x6mm    X4

SC-S33
3x3mm    X1

SP-07
3x7x0.5mm    X5

AL-210
48P18T    X1

DAL-06    X1

PL-N134
48P96T    X1

AL-N302  X1

SP-5725
5x7x2.5mm    X1

AL-N392  X1

14 Angles

SC-R310
3x10mm

SP-07
3x7x0.5mm

SP-07
3x7x0.5mm

AL-N302

AL-N392

DAL-06

AL-72
2x9.8mm

SC-S34
3x4mm

PL-N134
48P96T

SC-R36
3x6mm

SC-S33
3x3mm

AL-210
48P18T

SC-R38
3x8mm

SP-5725
5x7x2.5mm



C BAG C 16

x2
AL-73

PL-07

PL-01...06
Six length for option.

SC-R36
3x6mm    X8

SC-C25
2x5mm    X2

SC-B485
4.8x5mm    X2

SC-F316
3x16mm    X2

AL-73    X2

AL-32    X2

PL-07    X2

PL-01    17Hole

PL-02    11Hole

PL-03    9Hole

PL-04    7Hole

PL-05    5Hole

PL-06    3Hole

AL-N318    X2

AL-N303    X1

CF-N120    X1

SC-R36
3x6mm

SC-R36
3x6mm

SC-R36
3x6mm

SC-R36
3x6mm

SC-B485
4.8x5mm

SC-B485
4.8x5mm

AL-N303

CF-N120

SC-C25
2x5mm

AL-N318

AL-N318

AL-32

SC-F316
3x16mm



C BAG C 17

x213.6mm

PL-08    X4

Nt-3mm
M3 Nut    X2

SC-R320
3x20mm    X2

SC-F310
3x10mm    X4

AL-57
M3x25mm X2

SC-R320
3x20mm

SC-F310
3x10mm

Nt-3mm
M3 Nut

AL-57
M3x25mm

PL-08



D BAG D 18

DSSP-20    X2

FRONT

DSSP-10    X2

REAR

SUGGEST TO USE 50cst SHOCK OIL
建议使用50cst避震油

EC-2mm    X8

PL-135    X4

AL-N328    X4

PL-N136(white)   X4

AL-N329    X4

AL-N330    X4

BPL-18(white)   X4

AL-N331    X4

AL-N332    X4

PL-N137    X4

PL-N138    X4

AL-N333    X4

PL-N334   X4

EC-2mm

EC-2mm

PL-135

AL-N328

PL-N136(white)

AL-N329
AL-N330

BPL-18(white)

AL-N331

AL-N332

PL-N137

PL-N334

PL-N138

AL-N333

Front x2 / Rear x2
DSSP-20 DSSP-10

部分已组装
PARTIAL ASSEMBLED



D BAG D 19
PL-44 (black)    X4

PL-144 (black)    X4

PL-44 (BLACK)

PL-44 (BLACK)

PL-144 (BLACK)

REAR

FRONT

PL-144 (black)



x2
AL-73

PL-07

PL-01...06
Six length for option.

D BAG D 20
SC-F36
3x6mm    X5

AL-119    X3

SC-F38
3x8mm    X3

AL-73    X2

PL-07    X2

PL-01    17Hole

PL-02    11Hole

PL-03    9Hole

PL-04    7Hole

PL-05    5Hole

PL-06    3Hole

BP-02    X1

CF-N111    X1

CF-N112    X1
AL-119

CF-N111

SC-F38
3x8mm

SC-F36
3x6mm

SC-F36
3x6mm

BP-02

CF-N112



D BAG D 21

REAR
Rim and tires are not included.

Suggest to use rim with offset 8mm.
套件不包含轮胎与轮毂
建议后轮搭配0ffset 8mm

FRONT
Rim and tires are not included.

Suggest to use rim with offset 8mm.
套件不包含轮胎与轮毂
建议前轮搭配0ffset 8mm

SC-F36
3x6mm    X4

AL-72
2x9.8mm    X4

Nt-4mm
M4 Nut    X4

AL-N313    X1

CF-N113   X1

AL-N314   X2

AL-N339   X2

SP-5701
5x7x0.1mm    X2

Not included.
ESC不包括

SC-F36
3x6mm

SC-F36
3x6mm

AL-N313

CF-N113

Nt-4mm
M4 Nut

Nt-4mm
M4 Nut

AL-N314

AL-N339

AL-72
2x9.8mm

AL-72
2x9.8mm

x2

x2

为了更好的体验原厂设定，建议轮胎搭配TOPLINE TDT-002PE，
如搭配其他轮胎可能设定上会有所变化，请自行斟酌！

Suggest to use tire TOPLINE TDT-002PE to get better experience of original settings. 
If use other tires, setting will change, please note it. 

为了更好的体验原厂设定，建议轮胎搭配TOPLINE TDT-002PE，
如搭配其他轮胎可能设定上会有所变化，请自行斟酌！

Suggest to use tire TOPLINE TDT-002PE to get better experience of original settings. 
If use other tires, setting will change, please note it. 

SP-5701
5x7x0.1mm


